STA. 2

&+
2 i

12

Y
"=

KR
%%ﬂx&ﬂﬁn’pgﬂka~

3Rk Rk R
HEAREERE > 9T £

LRy

i719’41ﬁ””}$£’%?ﬁ$ﬁ

59.

99&F 1" 12P

l -

97# i & -k B K F P

LA AR N Sl PESE R 0 A 14
R 21 A RAKE

5 Hp =

&Rl

;)sa’fl., ]\}E_lﬁ'f:ﬁﬁ p n;‘gl_
g;w«&19ﬁzy:a?wLEAWBQ’enﬂ&E~6L%/“
%516’ﬁﬂUE¢¢E&é%ﬁ’%%ﬁ&

Ll s I % [ S A S IR S
KR 3| 7 ¥ A m 1
e | (CTST < 40) (40=CTSI=50) (CTSI > 50) | T, | | ¢ S I
B [ Ak] 9% | A% | % |AE] % ~
21 2 | 9.52| 13 |[61.90| 6 |[28.57| 44.2 | 38.9 | 49.2 | 50.0 | 44.3 | 50.3 | 40.7
AR LR
% o B - W 5 i 5 % & i e k i
Ak 4. 3 % & ] 2 S L h o ;‘l% £ 4
% % % = R ¥
40.4 | 45.9 | 38.2 | 44.2 | 44.0 | 52.1 | 44.3 | 44.0 | 49.6 | 54.8 | 59.1 | 51.4 | 71.9 | 42.3

TR kR

A

B

(A ER: 2o

Pl AR A BF ) o g R R AR
A ERAERKFEN -
2. f&4p¥k (TSI; Trophic State Index) f%

R H - A

RATE g

-
= o
=+

Rl g o BE G EAg R LA KR

CER%E-ar P RZARE

2+ f #(Carlson) B#&4pliciz -5 -
L B L EEE 30
80
01 i
60 _
S0 T ] - i
40
30
20
10
0,,\”\ | L) [ S | L) | | | |
MEFPFT AP AGF D CF YT E s EF R S
I B fe i A AR R Y AR R 2 LG S F L
L /ﬁ- /-§— /ﬁ_ Bf JE @
KR

07 & 1 & k& % 4 Heh F ]

%

28.5T% o 4

61.90%

STA193-1




STA193-2



	Sheet1

